TWINO2SU-B

JUNECAR

APEVAUNU
FULLFODERBLANDARE

VARAOSALUETTELO
RESERVDELSKATALOG

SUOMI-SVENSKA 2002 C €



V2




WILLAWSLNWIXIS
ANIISSINVIXIS
ddVL1SY4
¥IANITAD YSIINVIAAH
wion

INNIdSY1
INNIIXVS
TAONVRILXITTY
ANISINWIXIS
YILLNWINWIX3S
TIYNSNOISNVdX3
YILLNWLINWIX3S
ANDISSY
AINILOW
ddVISONRIILSNS
AVTIYH3IE

VTIYH3IE
ONINWYN34

RELLAWOISNN
IANNYOISNNM
IddVLSALINNI
RIFLNMASIINVIAAH
INNT
VININVANLLAN
WVOSISVS
OIWIOMNILSVIIIH
IANN¥OISNNX
REILLAWOISNN
OIIYSVLINNSIVd
RELLAWOISNN
IANNYONINT
VY31VISVA
IddVLOLYVS

oniys

oniys
DIWIN

T OLW
GT:OLW

/ST4T 00£-0€/0S ¥SIN

wwg’e OLLON
0G+9

0T X 8W
11 8W

1 9LW
09 X 9LW

80L6¥

E[e[0),
[e[e]o) |

LSTT9
c¢vo9sa
GETE9
yvooLLoEQsd

4£8€00005d

LEOS9

97099
88LEEL
80099

4N 134
ANVSOVIVA

|
7SR UV

—ANNOTUOONOOO

VSO

V3



RUNKO
STOMME

OSA

= 0OONONAEWN=

o

V4

VAR.OS.NR
DEL NR.

66032

66199
63697

29230
66204

66202

KOODI
KODE

M20 X 65 8.8
M20
M20X1,5
M10*25

M10 1L

CF322-22
M8*30

NIMI
RUNKO

RUNKO

VETOAISA

JATKOPALA

KUUSIORUUVI
KUUSIOMUTTERI
JOUSIALUSLEVY
KUUSIORUUVI
KUUSIOMUTTERI

HYDR. LETKUJEN KANNATIN
NIVELAKSELIN TUKI

VETOLENKKI HITS.
LETKUN KIINNITIN
KUUSIOKOLORUUVI

BENAMNING
STOMME

STOMME

DRAGSTAND
FORLANGNINGSDEL
SEXKANTSKRUY
SEXKANTMUTTER
FJADERBRICKA
SEXKANTSKRUV
SEXKANTSMUTTER
HALLARE FOR HYDR.SLANG
STOD FOR
KRAFTOVERFORINGSAKSEL
DRAGOGLA SVETSAD
SLANG FASTE
SEXKANTHALSKRUY



ASTINTASO
STEGNIVA

kesken
OSA KPL VAR.OS.NR KOODI NIMI BENAMNING
REF ST DEL NR. KODE ASTINTASO STEGNIVA
1 1 66206 ASTINTASO STEGNIVA
2 2 M12 IL KUUSIOMUTTERI SEXKANTMUTTER
3 4 M16IL KUUSIOMUTTERI SEXKANTMUTTER
4 4 M16X75 8.8  KUUSIORUUVI SEXKANTSKRUY
5 1 66178 NAYTON TELINE STATIV FOR MONITOR
6 6 M12 ALUSLEVY BRICKA
7 2 M12X30 8.8 KUUSIORUUVI SEXKANTSKRUV
8 1 66215 RAPPUSET, TRAPPA
9 2 A20*1.20 SEEGER SEEGER
10 1 D30100 KAHVA HANDTAG
1 2 M8X25 KUUSIOKOLORUUVI  SEXKANTHALSKRUV
12 1 66187 VARSI STATIV
13 8 3/4" usIT usIT
14 2 M8 IL KUUSIOMUTTERI SEXKANTSKRUY
15 4 M16*50 KUUSIORUUVI SEXKANTSSKRUY
16 4 M16 IL KUUSIOMUTTERI SEXKANTSMUTTER
17 20 M16 ALUSLEVY BRICKA
18 2 66216 SUOJALUUKKU SKYDD
19 4 66218 TAPPI TAPP
20 8 3+25 SAKSISOKKA SAXPINNE

V5



TELIKEINU
BOGGIE

OSA KPL VAR.OS.NR
REF ST DEL NR.
1 2 66047

2 4 175350
3 2

4 2 300146
5 2

6 2 CEGE 40
7 2

8 2 CEGE 60
9 4 66174
10 4

11 4

Vé

KOODI
KODE

400/60-15,5-14PLY
AM16X25 8.8
6X58/17, 4-6784
62X2,0

INA GE 40 DO
90X 3,0

INA GE 60 DO

M10 1L
M10*40

NIMI
TELIKEINU

TELIKEINU, KOOTTU
PYORA, KOOTTU
KUUSIORUUVI
ALUSLEVY
SEGER
NIVELLAAKERI
SEGER
NIVELLAAKERI
TELIN RAJOITIN
KUUSIOMUTTERI
KUUSIORUUVI

BENAMNING
BOGGIE

BOGGIE, HEL
DACK, HEL
SEXKANTSKRUV
BRICKA

SEGER

LAGER

SEGER

LAGER

BOGGI STOPPARE
SEXKANTSMUTTER
SEXKANTSKRUV



E S E N

— =0 0ONOUGAWN-—
N

- O
ANAMNAMNMNMMMNIANLAN

VAR. OSA
DEL NR

D912T90
BA61L0004
D902CC32210
D915PA52
D902CC30213
D903C18
D904L690/120N
D903D18GER
D908DF39160
D915N30213
D915PG65

KOODI
KODE

6x50

M18

NIMI

KAPSELI
SAKSISOKKA
LAAKERI
TIIVISTE
LAAKERI

RUUVI

NAPA
KUUSIOMUTTERI
KRUUNUMUTTERI
TIIVISTE

TIIVISTE

BENAMNING

KAPSEL
SPRINT

LAGER

TATNING

LAGER

SKRUV

NAV
SEXKANTMUTTER
MUTTER
TATNING
TATNING

V7



VOIMANSIIRTO
FRAFTOVERFORING

V8



o o

—_—_WWNOWN=NNLAMLA
[N o

VAR.OS.NR
DEL NR.

D40003925
D55165
D40003926
D40003927
66043
66031
66021
65015
65022
66185

65055

Dé62033E

65046

66162
65059

D30000202

66164
66163

KOODI
KODE

SOM PG 1602

T80 1210CE115115
SOM PGA1603
SOM 5367.001.018

COMER 526
M8*16

M16 30/18 X 3
M16IL

M16 X 50

M16

COMER 526
M16*85

M16*40

MI16IL
M8*16
M8

M30

M16*55

M16IL
M10*30
M10

NIMI
VOIMANSIIRTO

PLANEETTAVAIHDE
NIVELAKSELI
PLANEETTAVAIHDE
ALENNUSVAIHDE
VAIHDEKEPPI
KIINNITYSLEVY

BENAMNING _
KRAFTOVERFORING

PLANETVAXEL
KARDANAXEL
PLANETVAXEL _
REDUKTIONSVAXEL
VAXELSPAK
FASTSPANNINGSPLATTA

SPIRAALI, ETUMMAINEN SPIRAL, FRAMSTA
SPIRAALI, TAKIMMAINEN SPIRAL, BAKRE

KIINNITYSLEVY
AKSELINSUOJA
KUUSIORUUVI
ALUSLEVY
KUUSIOMUTTERI
KUUSIORUUVI
JOUSIALUSLEVY
AKSELINSUOJA
KUUSIOKOLORUUVI
LUKKORUUVI
TERA
KUUSIOMUTTERI
KUUSIORUUVI
JOUSIALUSLEVY
MUTTERIN LUKITSIN
KUUSIOMUTTERI
LUKITUSTANKO
PEITELEVY
KUUSIORUUVI
LIUKURULLA
KUUSIOMUTTERI
KUUSIORUUVI
JOUSIPRIKKA
PEITELAPPU
PEITELAPPU 2

FASTSPANNINGSPLATTA
AXELSKYDD
SEXKANTSKRUV
BRICKA
SEXKANTSMUTTER
SEXKANTSSKRUY
FJADERBRICKA
AXELSKYDD
SEXKANTHALSKRUY
LASSKRUY

KNIV
SEXKANTSMUTTER
KUUSIORUUVI
FJADERBRICKA
LASET FOR MUTTER
SEXKANTSMUTTER
LASSTANG
TACKPLAT
SEXKANTSKRUV
GLIDRULLE
SEXKANTSMUTTER
SEXKANTSKRUY
FJADERBRICKA
TACKPLAT
TACKPLAT 2

V9



SUOJAT JA VALOT
SKYDD OCH UUS

V10



3ISv4

VAWV INIE

VAWV SNMIvE/Woue
OMNOd-£ 135dQLS
ILLNWSLNYIXAS
wIORIg
ANIISINWYXES
SIVSONING3T
SIVSONING3T

ANDIS

wIonRg
ANIISINWIXES
YWILLNWINWYXES
wIoRg¥3ayrd

31SVA

SIVSONINGIT
YILSNYA WYDISNYLS
¥IDQOH WYDISNYLS
VDIATIVE

SV19

TIONVRIDATHTY
¥ILSNYA SN 404 MV1IALSYH
¥IOOH SNM ¥Q4 MVLIALSY4
aanisive

YILSNYA IS

¥IO0H aaris

OVT¥3IANN
ONINWYN34

VLLVISALINNIDI
NddWVT NNXTIA
NddWVT NOTVA NNIVI/WIVL
NaNIVdYN-£ Vdd1N1O1SId
RaLLNWOISNN
AATISNTV
IANNYOISNM
YRIVSOLHOr
VYRIVSOLHOr

IANNY

AATISNTVRION
IANNYOISNMI
RELLNAWOISNMI
ATISNTVISNOr
VLLVISALINNIDI
YRIVSOLHOr

NaSVA YIONsSw)IO1
VIO YIONSWIO1
OTVAWIVL

ISV1

OIWIOJINILSYIEH
NaSVA DiidId NIrO1vA
YDIIO DiIAId NIrOTVA
Yronswivl

N3aSVA YIONSNAIS
VDIIO YIONSNAIS

VIHOd
IWIN

MOL
MS/0T
0941 NWIVL
TIW

W

0Z.9W
w/o
wgg'L
9LSW

G 1+6/TT
8'8 9L X 8W
11 8W

sW

wes

0ELL NWIVL

E[efe) |
Iqoox

SYL99

LZosy8lLl
€€0G¥8LL

YL99
viosvell
Ly199
Ly199
000-0€LL¥L
1/10€LL
$8€00005d
S99
¢G99
9€099
LEO99
LEO99

AN 134
AN'SOUVA

Tt IT NN

e N NN —

=
(%]

1)

€C
(44
Lc
1[4
6L
8L
Ll
9L

14"
€L
cL
LL
oL

N ™ TOON @ O

—

EED
VSO

V11



JOHDOT
LEDNINGAR

—
=
-4
m
-

V12



OSA

NVONOOAWN=—=

KPL
ST

— =00 A
NN

OARARA——0—h—

VAR.OS.NR
DEL NR.

D40560

D40562
63083
D40569

D141879
66074
A01950

KOODI
KODE

DIGI-STAR
M16 30/18*3
M10IL
M10X 90 8.8
DIGI-STAR

DIGI-STAR EZ 2000V
M16X308.8
DIGI-STAR

M6X 16
M8 IL
M8
M16

NIMI

VOIMA-ANTURI
ALUSLEVY
KUUSIOMUTTERI
KUUSIORUUVI
VIRTAJOHTO
PESAN KIINNIKE
NAYTTO
KUUSIORUUVI
JAKORASIA
JAKORASIAN SUOJA
KUUSIORUUVI
KUUSIOMUTTERI
ALUSLAATTA
JOUSIALUSLEVY

BENAMNING

SENSOR

BRICKA
SEXKANTSMUTTER
SEXKANTSKRUV
ELLEDNING
FASTDETALJ
MONITOR
SEXKANTSKRUY
FORDELNINGSDOSA
SKYDD TILL FD
SEXKANTSKRUV
SEXKANTMUTTER
BRICKA
FJADERBRICKA

V13



LETKUT JA LIITTIMET
SLANGAR OCH KOPPLINGAR

V14



ANISINWIXIS

ONVIS'AQYAH ¥O4 JLSY4
av1ddOd ONVIS
ANISINWIXIS
wYDNg¥3Iayrd

31SY4

JINWAIVIS
13ddINSONINIIOWS
ONITddONIOY
ONITddONddVYNS
ONINDDYTdOHSONINTIALY
ddOTAVNALLVA
ONINDOYTdOHSONINIIOWS
ONINDDYTdOHSONINTIALY
av1ddOd ONVIS
ddOTAVNILLVA
ONINDOYTdOHSONINIOWS
av1ddod ONVIS

av1ddOd ONVIS

ONINLYL -LISN

av1ddOd ONVIS
vddIN13g9na

aviddod ONVIS

ONINLYL -LISN

JdVONITddON HOO IdVONVIS
ONINWYN39

IANNYOTOMNOISNN
ININNIN NOXLITIAAH
NLLOOM N3I131
IANNYOISNN
VIIAdISNOT
ININNII
VddINOMLVT
VddINVASVY
NILINLNd
NILIITVId
VWIINNISVYOLLAYL
IMLNdOLONA
VYWIINNISYSNVASVY
VWIINNISYOLLAYL
NLLOON N3I131
IMLNdOLONA
VYWIINNISYSNVASVY
NLLOOM N3131
NLLOOM NY131
J1SIAILL -LISN
NLLOOM NY131
VddINSIOSHV
NLLOOM NXLIT
JLSIAIL -LISN

LIWILLIT VI LiLa1
SALIWIN

0€«8W
¢e-eee 40
009€=1
9L+8W
8W

9-60L

:w\F
S90G1LGLL
8-¢/0€¢d
0GEY=1
0G/¢=1
00C¢E=1
00G¢=1
0£G9=1
00LL=1
00G9C=1
00€C=1
wwooLvy=1
:w\m

00€ =1
8-10¢
wwooé¢ =1
:N\_-

E[efe) |
100

LEEE9

¥8199

96099
66099

y¥ 199
G6099
L6099
86099
G059
8GG¢E9
LEEE9
LL2oo00€Ea
8¥0G9
08€0000€d
Gg/c0€d
¢1¢0000€d

4N 13a
ONVSO

VAN~ ANN—F—— Y ANANN—NN—UOL.

1S
1d

O~ NMTOONODMOO—NM
— e e e NN N AN N

— ANMTOONOWOO

43y
A11IA

V15



ELEVAATTORI
ELEVATOR

o



¥ILLNWINWX3S
AN¥NSSYT

1SV1d ONINLYL
aamis

A ‘danisoais

H ‘aaaisodis
¥ILLNWINWIX3S
ANYISINYIXIS
aamis

aamis

aamis
¥ILLNWINWX3S
YTOHNVTIIW
™

dols ¥39v1
I1INYOVIA
4393
YILLNWINWIX3S
ANYISSY
JOLOW ¥AAH
AVTIVH
I1INYOVIA
¥39V1

INNId

VLIVW dOLdOdSNVIL

JOLVAITS

ONINWVYN39

NILLAWOISNN
IANNYOYNNT
IAONWALSIAIIL
VronsN.3
VIONSNAIS
VIONSNAIS
¥ILLAWOISNN
IANNYOISNN
VIONSALYYd
VIONSALYYd

vrons
RALLNWOISNN
DIXTOHITOA

V1

DININRINVV
VTINYOL3IA

43933S
R3LLNWoIsNMI
IANARODINT
RIOLLOOWITNVYAAH
NILVNNW LLOOW ddAH
V1INYOL3IA
RIDAVVIVAIV]
oxlind
OLLIVWNILAMMI
RIOLIVVAITE

IWIN

1 8W
0CX8W

USSDA
e
OLW
06X0LW
e
USSDA

1 ZTIW
8LX8x/
ARSI A

TOLW

0EXOLW
00¢ dWO

G0¢ 40N

E[efo) |
[e[o]0) ]

¢0se9
€6069
vS0S9
75059

[A 145

[A14%%

LGGE9

8€0¢9

66vE9
9Ce¥E9

000¢04594
€G6€9
€EVE9
0S0240N10

G600vd
L6v€9

4N 13d
VSO UVA

Ve
Ve

— —— (NN~ r— —

AN N
——— N—— N—— M — AN Mr— < —

1S
1d

14
ve
€c
(A4
L
0¢c
6l
8l

Ll

O— ANMT O
— e e e e

—ANAMITOONOD0O

VSO

V17



VAR



	TWIN02SURU-Bkansi_2.pdf
	Sivu 1




